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Were in Point-S lope form the equation

r W/ Q]

ope 2

= Slope =

. PCLSS/M( +"\(‘°u$l\-

/3-6 &h(—m\'

= )/-/- \Lﬁ’:% (%-2>
‘ ) :% (x-2)




\/\/P e The Eq_u dF DA '\ Pojnt —SloR< Lol v

- =2
- m:S/opGZ S
_|-_1__
gr = Péonf‘eune:_,( ]':2>
P %;,2\
R Ya ;_""_’,\ Lan PN -
E/z\ QMTSJL"%'JV\"C(_‘\fm{ayaV/
RS 2-0 21~
(5.8 ms 2




W e The Equation in Point =Sk &

o ..;z
' M—S(OF“ N
\ ()(12':)‘5) Fé Ohﬂe ne <3 ﬁB_
3D
EDA\E RN +f3-’(’(3
- mi G cy/_.__,_é.,)




ST L.

0 \/\Jl\c“(f"'\"é SOMMW‘?'EOX SN

Py QKO ot the Retam
Q) P KN -dKQ: 1-7(w) 14 17




	Page 1: Dec 1 - 7:50 AM
	Page 2: Dec 1 - 7:50 AM
	Page 3: Dec 1 - 7:50 AM
	Page 4: Dec 1 - 7:50 AM
	Page 5: Dec 1 - 7:50 AM

